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Lowest —order Covariant annihilation diagrams
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The interpolating photon polarization vectors
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Covariant Feynman amplitude
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Center of mass kinematics
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Lorentz Transformation
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Time ordering in the interpolation dynamics
t-Channel

Covariant Propagator Forward moving Backward moving
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Observe symmetries between covariant Helicity amplitudes

Mt++ = Mt-- MtO+ = -(MtO-) Mt 00 g="
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— Mt++ = Mu++
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e Helicity amplitudes satisfy symmetry based on parity conservation
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Critical annihilation angle
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Critical interpolation angles
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Critical interpolation angles (Pz# 0)
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 Ptand Pu play the role of Pe
* Etand Eu play the role of EO
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Summary

Covariant Amplitudes O
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Corresponding time order-
amplitude also vanishes when
0->0,



Limitation

IFD — Interpolating Dynamic — LFD
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Cross-Section of the processes using Mandelstam variable. |M|? = M2 + M 24+ M2
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e Two Scalar mesons annihilation in to two rho mesons
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* Scaler electron and proton annihilation in to two photons
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* Two Scalar mesons annihilation in to two rho mesons
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Calculating cross section as a function of Mandelstam variable.
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